

Additional Funding Request

MD002	CSS# 17605 WO# 7580 Asset# NA																							
Description of Repairs	Labor and materials to repair one toilet, one urinal and two sinks.																							
Diagnosis: Initial Work Order	After all previously submitted tickets for pluming repair issues are fixed, there is still one toilet in the second floor ladies room that needs repair and one urinal in the first floor men's room that needs repair. There are also two sinks not working and one that is clogged in the ladies first floor restroom and one non-working sink in the second floor men's room																							
Diagnostic Fee	<p>\$ 80.00</p> <p>TW Labor \$80/hr x 1</p>																							
Additional Labor Cost to Perform Repairs	<p>\$480.00</p> <p>TW Labor \$80/hr x 6</p>																							
Additional Material Cost to Perform Repairs	<p>\$1,059.89</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="padding: 2px;">#1ANB9 Lithium batteries voltage 6 battery size 223</td> <td style="padding: 2px; text-align: center;">3</td> <td style="padding: 2px; text-align: right;">\$18.09</td> <td style="padding: 2px; text-align: right;">\$54.27</td> </tr> <tr> <td style="padding: 2px;">#2VEJ4 Side mounted double flush toilet/urinal valve retrofit kit</td> <td style="padding: 2px; text-align: center;">2</td> <td style="padding: 2px; text-align: right;">\$282.35</td> <td style="padding: 2px; text-align: right;">\$564.70</td> </tr> <tr> <td style="padding: 2px;">#2VED3 1.0 gpf Single flush urinal manual flush valve 3/4" IPS inlet size 11-1/2" Rough-in</td> <td style="padding: 2px; text-align: center;">1</td> <td style="padding: 2px; text-align: right;">\$193.23</td> <td style="padding: 2px; text-align: right;">\$193.23</td> </tr> <tr> <td style="padding: 2px;">#2VEC7 1.6 gpf Single flush toilet manual flush valve 1" IPS inlet size 11-1/2" Rough-in</td> <td style="padding: 2px; text-align: center;">1</td> <td style="padding: 2px; text-align: right;">\$193.23</td> <td style="padding: 2px; text-align: right;">\$193.23</td> </tr> <tr> <td style="padding: 2px;">Sales Tax</td> <td style="padding: 2px;"></td> <td style="padding: 2px;"></td> <td style="padding: 2px; text-align: right;">\$54.46</td> </tr> </table>				#1ANB9 Lithium batteries voltage 6 battery size 223	3	\$18.09	\$54.27	#2VEJ4 Side mounted double flush toilet/urinal valve retrofit kit	2	\$282.35	\$564.70	#2VED3 1.0 gpf Single flush urinal manual flush valve 3/4" IPS inlet size 11-1/2" Rough-in	1	\$193.23	\$193.23	#2VEC7 1.6 gpf Single flush toilet manual flush valve 1" IPS inlet size 11-1/2" Rough-in	1	\$193.23	\$193.23	Sales Tax			\$54.46
#1ANB9 Lithium batteries voltage 6 battery size 223	3	\$18.09	\$54.27																					
#2VEJ4 Side mounted double flush toilet/urinal valve retrofit kit	2	\$282.35	\$564.70																					
#2VED3 1.0 gpf Single flush urinal manual flush valve 3/4" IPS inlet size 11-1/2" Rough-in	1	\$193.23	\$193.23																					
#2VEC7 1.6 gpf Single flush toilet manual flush valve 1" IPS inlet size 11-1/2" Rough-in	1	\$193.23	\$193.23																					
Sales Tax			\$54.46																					
Total Cost of Repair	\$ 1,619.89																							



WORK ESTIMATE

CSS #:

17605

Work Order #:

7580

Emergency

Urgent

Routine

X

Company Name:	Tidewater, Inc.	Facility ID:	MD002
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g.,	
E-Mail Address:	adam.colopy@tideh2o.net	Classroom/Room #)	
Assigned Technician(s):	John Brown		

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to repair one toilet, one urinal and two sinks.6

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Labor			6	\$480.00
#1ANB9 Lithium batteries voltage 6 battery size 223	3	\$18.09		\$54.27
#2VEJ4 Side mounted double flush toilet/urinal valve retrofit kit	2	\$282.35		\$564.70
#2VED3 1.0 gpf Single flush urinal manual flush valve 3/4" IPS inlet size 11-1/2" Rough-in	1	\$193.23		\$193.23
#2VEC7 1.6 gpf Single flush toilet manual flush valve 1" IPS inlet size 11-1/2" Rough-in	1	\$193.23		\$193.23
Sales Tax				\$54.46
Diagnostic			1	\$80.00
SUB-TOTAL COSTS:		Materials Total	\$1,059.89	Labor \$560.00
				TOTAL \$1,619.89

4 Products in Johnny's MD002 B-1

The product(s) selection below has been provided to you for your shopping convenience from a Shared List so that you may easily add item(s) to your cart for purchase.

Select All

Add to Cart

Item	Price	Qty	Total Price
<input type="checkbox"/>  Lithium Battery, Voltage 6, Battery Size 223, 1 EA Item #: 1ANB9	Web Price <small>1</small> \$15.07 / each	<input type="text" value="3"/>	\$45.21
<input type="checkbox"/>  Side Mounted Double Flush Toilet/Urinal Flush Valve Retrofit Kit Item #: 2VEJ4	Web Price <small>1</small> \$235.29 / each	<input type="text" value="2"/>	\$470.58
<input type="checkbox"/>  1.0 gpf Single Flush Urinal Manual Flush Valve, 3/4" IPS Inlet Size, 11-1/2" Rough-In Item #: 2VED3	Web Price <small>1</small> \$161.02 / each	<input type="text" value="1"/>	\$161.02
<input type="checkbox"/>  1.6 gpf Single Flush Toilet Manual Flush Valve, 1" IPS Inlet Size, 11-1/2" Rough-In Item #: 2VEC7	Web Price <small>1</small> \$161.02 / each	<input type="text" value="1"/>	\$161.02

List Total Price \$837.83

Select All

Add to Cart





